

$$nC_n - (n-1)C_{n-1} = (n-1)(n-n+2) + 2C_{n-1}$$

$$nC_n = (n+1)C_{n-1} + 2(n-1)$$


---

$: n(n+1)$

$$\frac{C_n}{n(n+1)} = \frac{C_{n-1}}{n(n+1)} + \frac{2(n-1)}{n(n+1)}$$

$$= \frac{C_{n-1}}{n} = \frac{C_{n-1}}{n} + \frac{2}{n+1} \sum_{k=1}^n \frac{1}{k} > \int_{x=1}^n \frac{1}{x} dx > \sum_{k=2}^{n-1} \frac{1}{k}$$

4 7-13:56

$a, b, c$   $m=3$   
 $\xi=9$

\*\*\*\*\*  
a a a | b b b | c c c c c

a e a a | c c c c c

$(3+9-1)$   
 $3$

---

$(15)$   
 $4$

$\uparrow$   
sig

4 7-14:34

$1+2+3+\dots+98+99+100$

$100$

$1+2+3 = (1+3+2+2+3+1) \cdot \frac{1}{2} =$

$\frac{n(n+1)}{2}$

---

$(x-1)(x^2+x^{-1}+\dots+x+1) = \frac{x^{n+1}-1}{x-1}$

$\frac{1}{1-x}$

$\frac{1}{1-x}$

4 7-14:43

$(x+y)(x+y)\dots(x+y) = \sum_{\xi=0}^n \binom{n}{\xi} x^\xi y^{n-\xi}$

$n$  fakt

$\binom{n+1}{\xi} = \binom{n}{\xi-1} + \binom{n}{\xi}$

4 7-14:50

$r = \xi + r - \xi$

$\uparrow$   $\uparrow$

$\binom{m}{\xi}$   $\binom{m}{r-\xi}$

---

4 7-14:58

rozšíř:  $\frac{1}{2}$   
délka:  $(1/2)^{100}$

**Systém!**

$a, \xi(a), \xi^2(a), \dots$

---

referenční strategie:

1	2	3	...	99	100
2	3	4	...	100	1

stejně jako je ošklivá, stejně udele!

hnutí na 100 prvních:  $n$  kolo  $(n!)$

průměr s výř > 50: výř > 4/2

výř delší r > 4/2:  $\frac{\binom{m}{r}(r-1)!(m-r)!}{r!(m-r)!} = \frac{m!}{r! \cdot (m-r)!} = \frac{m!}{r}$

$\frac{1}{r}$

4 7-15:12

$\Rightarrow$   $\frac{1}{100}$   $\approx$   $0,01$   
 $1 - \sum_{\xi=1}^{\infty} \frac{1}{\xi} \approx 0,312$

1 2 3 4 5 6 7     *Ergebnis*  
 ③ ⑦ ① ②     6 5 ④

4 7-15:25

$(x+y)^{\alpha} = \sum_{\xi=0}^{\infty} \binom{\alpha}{\xi} x^{\xi} y^{\alpha-\xi} \quad x+y > 0$

~~$\frac{d}{dx} \left( \frac{x}{y} + 1 \right)^{\alpha} = \sum_{\xi=0}^{\infty} \binom{\alpha}{\xi} \left( \frac{x}{y} \right)^{\xi} \cdot \frac{1}{y}$~~

$\frac{d}{dx} (1+x)^{\alpha} = \alpha \cdot (1+x)^{\alpha-1}$

$\frac{d}{dx} \left( \sum_{\xi=0}^{\infty} b_{\xi} x^{\xi} \right) = \sum_{\xi=1}^{\infty} b_{\xi} \cdot \xi x^{\xi-1}$

$\alpha \cdot (1+x)^{\alpha} = \left( \sum_{\xi=1}^{\infty} \xi b_{\xi} x^{\xi-1} \right) (1+x)$

$\alpha \sum_{\xi=0}^{\infty} b_{\xi} x^{\xi} \Rightarrow \alpha b_{\xi} = (\xi+1) b_{\xi+1} + \xi b_{\xi}$   
 $b_{\xi+1} = \frac{\alpha - \xi}{\xi+1} b_{\xi}$

$b_0 = 1$   
 $b_1 = \frac{\alpha}{1} \cdot 1$   
 $b_2 = \frac{(\alpha-1)}{2} \cdot \frac{\alpha}{1}$   
 $\vdots$   
 $b_n = \binom{\alpha}{n}$

4 7-15:37